——
Ilﬁ\\

OBC

Oskoyi Ballbearing Company

Horizontal Toggle Clamps

Fi BASKI
F1 F2 F3 F4 1)VERIM | (X2)VERIM | VIDASI | (ANGLE) | (WEIGHT)
MODEL NO (STAINLESS) (BLACK) ™) N N N (X(Y)lELD) ( (Y)lELD) (SQUEEZE | (#5°) (o)
(FL:F) | (F2:Fi) | SCREW)

112-0-M S112-.. B112-.. 450 300 520 350 51 21 M4X25 90° 4]
112-0 S112-.. B112-... 450 300 520 350 5:1 21 M4X25 90° 42
112-1 S112-.. B112-.. 850 650 1000 800 71 31 M5X35 90° 125
112-2 S112-.. B112-.. 1000 750 1200 1000 7:1 31 M6X40 90° 225
112-3 S112-.. B112-.. 2300 1250 2500 1350 8:1 41 M8X50 90° 340
112-4 S112-.. B112-.. 3500 1800 3650 2000 9:1 41 M10X70 90° 810
112 -5 S112-. B112-.. 4500 2000 5000 2125 10:1 5:1 M12X80 90° 1520

‘ F1-F2 : BASKI KUVVETI ( EXERTING FORCE ), F3 -F4 : TUTMA KAPASITESI ( HOLDING CAPACITY ), Fi : UYGULAMA KUVVETI (APPLIED FORCE ) |

MODEL NO : 112-0-M
(KAPLAMASIZ METAL SAP) MODEL NO : 112-
(UNCOATED METAL HANDLE } N ez

Body Mounting Base Vertical

MODEL NO A B B2 C D E F G H H2 J K L M N X1 X2
112-0-M 25 7 4 25,5 13 16 4,5 22,5 32 68 75 M4 82,5 245 11 18
112-0 25 7 4 255 13 16 4,5 22,5 32 74 75 M4 89 045 11 18
112 -1 335 9 5 43 28 23 55 31 50 105 10 M5 148 @5 15 33
112-2 37 10 5 66 47 23,7-26| 10-6,5 41 64 123 14 M6 184 06 |6x10] 19 54
112-3 39,5 12 6 68 42 25,5 9 49 76 151 14 M3 215 26 Q7 25 53
112 -4 58 16 8 100 73 415 8,5 65 102 195 19 M10 29 | 085 | @09 27 83
112 -5 75 20 10 129 92 47,5 12 75 124 238 | 255 | M12 345 | 010 | @10 | 37 107

(021) 33913364 - 33951660 : wili ¢J

(021) 33985603 : uuSS PR




	Page 2

